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Der"Aufruf"im"letzten"if7Zweig"bewirkt,"dass"alle"Zusammenhangskomponenten"des"
Graphen"abgedeckt"werden."
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Q:"Warteschlange"(FIFO)"
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Breitensuche"extrahiert"Baumstruktur"aus"zusammenhängendem"Graphen"und"einen"
Wald"aus"einem"Graphen,"der"aus"mehreren"Zusammenhangskomponenten"besteht."
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Breitensuche"extrahiert"Waldstruktur"aus"unzusammenhängendem"Graphen"
"
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Mache"für"jeden"Knoten"Breitensuche,"um"kürzeste"Abstände"zwischen"allen"Knoten"
zu"ermiWeln"
Zusammenhangskomponenten:"Zähle"Aufrufe"der"BreadthFirstSearch"Prozedur"
Zusammenhangstest:"1"Aufruf"von"BreadthFirstSearch"
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Ein"Kreis"ist"eine"Sequenz"von"Kanten,"die"einen"Vertex"mit"sich"selber"verbindet."Dies"
kann"man"einem"
Graphen"bereits"an"der"Anzahl"der"Kanten"und"Ver^ces""ansehen"."Wenn"ein"
zusammenhängender"Graph"
E"="V"–"1"Kanten"hat,"ist"er"kreisfrei."Sobald"eine"Kante"mehr"im"Graphen"ist,"muss"der"
Graph"einen"Kreis"
enthalten."
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Der"durch"Breitensuche"entstehende"Baum"ist"nicht"eindeu^g."Die"Struktur"ist"davon"
abhängig,"
in"welcher"Reihenfolge"die"Knoten"besucht"werden"(gespeichert"sind)."
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Auch"ein"Tiefensuchbaum"ist"nicht"eindeu^g"aus"demselben"Grund,"weshalb"auch"
Breitensuchbäume"nicht"eindeu^g"sind."
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Die"Abarbeitung"erfolgt"hier"(im"Gegensatz"zur"Breitensuche)"in"LIFO7Reihenfolge."Bei"
der"Breitensuche"erfolgt"die"Abarbeitung"
in"FIFO7Reihenfolge."
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Ini^alisierung"7>"Zähler"auf"null"setzen"für"alle"Knoten"
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Man"sucht"eine"Totalordnung"(Sor^erung"aller"Elemente)"der"Knoten"in"einem"
Graphen,"die"kompa^bel"mit"dem"Graph"ist."
Dies"geht"natürlich"nur"dann,"wenn"der"Graph"zyklenfrei"ist."

74"



Wie"kann"man"aus"einem"solchen"Graphen"die"rechts"dargestellte"(sor^erte)"Sequenz"
extrahieren?"
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Aufzählen"der"Knoten"in"umgekehrter"Reihenfolge"ausgehend"nach"zweitem"Schlüssel"
(Return)."
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